
http://www.softdb.com/


  

  

  

  

  
  

  

  

  

  

  
 

 

  

  

 𝐵𝑅
 

 𝐵𝑃  

  

 𝐾𝑡  
 𝐾𝑖  
 𝐾𝑠  
  

  

  

  

  

  

  

  

 



  

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 



 
 

  

  

  

  

  

 
 

  

 𝐾𝑖  

  

 



𝑩𝑨  

𝑩𝒑 

𝑩𝑹 

(𝐵𝑃) (𝐵𝐴)

𝑲𝒕 

𝑲𝒊 

𝑲𝒔

𝑳𝑨𝒆𝒒,𝑻

𝑳𝑨𝒓,𝑻 (𝐵𝑃)

𝑳𝒙 Lx
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𝐿𝐴𝑟,𝑇

 



 

 

(𝐵𝐴)

(𝐵𝐴𝑐𝑜𝑛𝑠𝑖𝑔𝑛é)
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 (𝐵𝑅)

(𝐵𝑅) 

(𝐵𝑅𝑐𝑜𝑛𝑠𝑖𝑔𝑛é)

𝐵𝑅

(𝑩𝑹)















 (𝐵𝑃)

(𝐵𝑃)

(𝐵𝐴𝑐𝑜𝑛𝑠𝑖𝑔𝑛é) 

(𝐵𝑅𝑐𝑜𝑛𝑠𝑖𝑔𝑛é)

𝐵𝑃 =  10 𝑙𝑜𝑔(10
𝐵𝐴𝑐𝑜𝑛𝑠𝑖𝑔𝑛é 10⁄

− 10
𝐵𝑅𝑐𝑜𝑛𝑠𝑖𝑔𝑛é 10⁄

)

𝐵𝑃 𝐵𝐴𝑐𝑜𝑛𝑠𝑖𝑔𝑛é − 𝐵𝑅𝑐𝑜𝑛𝑠𝑖𝑔𝑛é

𝐵𝑃 𝐵𝑅𝑐𝑜𝑛𝑠𝑖𝑔𝑛é

(𝑩𝑨𝒄𝒐𝒏𝒔𝒊𝒈𝒏é
) (𝑩𝑹𝒄𝒐𝒏𝒔𝒊𝒈𝒏é

) 𝑩𝑷 



 

𝐿𝐴𝑟,𝑇

𝐿𝐴𝑟,𝑇 = 𝐵𝑃 + (𝐾𝑡 , 𝐾𝑖 , 𝐾𝑠)𝑚𝑎𝑥

𝐾𝑡 𝐾𝑖 𝐾𝑠
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𝐾𝑠



 

𝐿𝐴𝑟,𝑇

(𝐵𝑃)

𝑩𝑷 

𝑳𝑨𝒓,𝟏𝒉 
𝐾𝑡 𝐾𝑖 𝐾𝑠

 



 









 









 





 


















































